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Instructions : 1. Check the question paper for faimess of

printing. If there is any lack of fairnggg
inform the Hall supervisor.

2. Use Blue (or) Black ink to write and underline and pencil to draw diagrams,
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Note : This question paper contains four parts
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GO () Simends aflemTdsEnd@ i afeoL wefssayn,
i) ifisaue  Cuinmdaoner  aflan ufamen CaibllsBdar  gehr @b L
aflanc ufismenuin erupgis

Note: (i) Answer all the questions

12x 1=12

(i1) Choose the most suitable answer and write the code with the corresponding answer.
1. @6 Qurgshssr SO, @an Qeusfuflsy 2 siren@Lirg oysun L
alms F sreirs. DT Asranee, B v isrerr
........ U5 @550,
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F be the force between the two
them is doubled then the grav
a) 2F

Sy wiriiyaler

B)F/4 ") 4F

¢ b(.)dics placed at a certain distance. If the distance between
tationzal foree F will be,..

b) F/2 c)F/4

8 d) 4F
nrm"?’rgﬂﬂ”?émfﬂw apssen_ s Fflurarg ..., sulssnar o_srar 549
=) s |_rr.§;s1lu ‘ %) ey @ ey @) rrGs =) Gsmau é‘lmm’:yw
1;1; scattered light in Raman Scatlering containg lines
b b) Ant Sty b

: A ¢) Rayleigh's d) all the above
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Variation in dimensions of any object due 1o fze in:'-“-l&a‘aum!:n ) gy aflwir s
&) Thermal Expansion b) Therma) Variation Mperature is called as,......-

€) Therma| convection dy Evaporation
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If the electronegativity difference between two bonde
1.7 then the nature of bonding is .......... .

) FEifmeamiygssta

d atoms in a molecule is greater than

(a) lonic (b) Covalent (c) Polar (d) co-ordinate covalent
. wrib 2 esAssenruys usm Apsrar srrem

o)) Bflein 1£81 SyFs Briiiv =) Eflsit g1 @enpaurar mr b

@) ghar Bsrar pri Lifsrame &) Fifleir srar whssseTeann

Deliquescence is due to

a) Strong affinity to water b) Weak affinity to water

¢) Strong hatred to water d) Inertoess to water

205 Gauglésuglmaulls) allsnaru, af flenar Gumm seflssr Qaplaysar......
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o) 2Cr wrflwrs @ masdsrper
) swurs Grrs

In a chemical equilibrium, the concentrations of reactants and products are.....

a) remain different  b) remain same  ¢) cannot be predicted d) are not equal
Blrésgems o gy s mular usy cresr
SpEEiuGAns.
) FrifBaurysiv =) BanidGarrsiv
i U

) el Cairrsi ) sriafiGanmy
The blood sucking habit of leech is known as . —_
4) sanguivorous b) herbivorous ©) omnivorous g "W_ p
tyemaruilsir Gapup LbsMT G SBI0USDTUD @evamign FTHLULS,
) sevrwsiv ) manGursRTw

SHEUT LD .

; ) LmsiTsiy

&g HGsursie ; o
T@h) o band connects the tWo cerebral hemispheres o_f brain r:) o
9 teh:ler\.rﬂus b) hypothalamus ¢) corpus Calloauril o
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o me, the positon Of #4410 d) near the end

In metacentric chromoso g ) the centre
4) the proximal end b} distal
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=) pifleowp ) Jeivrbpyho
@) v HEEHTHN ) TRl st @b eumid Glgmry i
DNA fingerprinting is based on the principle of idemifyir?g ------------- sequences of Dy,
a) single stranded  b) mutated ¢) polymorphic d) repetitive :
esreaueussudmist eTgi/sTenen YsngLigeu stRGUT®eT/SHer
i. smir ii. Blevdaif iil. QU Grmedlund
<) i @b <) | wHmb ii @) i whHmpyd il ) i, i b myb jii
Which of the following is/ace fossil fuel?
i. Tar ii. Coal iii. Petzoleum
a) i only b)iandii c) ii and iii d) i, ii and iii
12. QupburraTairsaTed  shsarg  safefisals  LWSTUESSOUGD  Guis
CSTOUT(BETBET. . ccvnee LODMULD «cvvrrrree :
S|) G, gullsr 9}) Gxrevrflen, gpeav
@) alleir@L s, adlarden ) s gmii(p), wleflsen 3
More people are using ................ and............. operating systems in their computers,
a) Mac, Amiga b) Solaris, i0S c¢) Windows, LINUX d) Android, Minix 3
ugg I
PART II ' s o)

Goly: ) gGsgd 7 aflennés@nse oflaL weldsaib,

ii) (eflewrr e1atr 2249 S L Muones Lifleverllssayin)

i) Answer any seven questions: (Q. No.22 is compulsory) 7 x2=14

13. Qarfésiuli & smpleanyi, srremgemaryb perpra gyrmighg FAUTET
el uflenar Csirey Csiis.
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9. weflgfey i it FrEIe-LiLssrsr ai

2. Qurpsgis

Un derstand the assertion statement and the reason given and choose the correct choice,

Assertion: Heat always flows from the body of higher temperature to the body of lower
{emperature.
Reason : The mass of the body is not altered when it is heated o cooled
3) Both the assertion and the reason are true and the reason is the correc
assertion.
b) Both the EIi.SSCI'tIUII and the reason are true but the reason is not the ¢
the assertion.
¢) Assertion is true but the reason is false.
d) Both the assertion and the reason are falge.

t explanation of the

orrect explanation of

14, flsiraTT DMV misTallsT guslaner susHTwmy?
Define the unit of electrical energy consumption?
15. "wefirrCashusafl Fiarp o ulflorisedr oysls sravraflsmsulli mrri,‘pg?sirpm'_
STITENTLD 6T(LPEIS.
“Aquatic organisms live in large number in cold regions”™. Write the reason.
16. 9 senrFllsd o ster ewanl rrémsd — guelular Qegley 1 x 10-""M erafls
gssamrasiiar pH wgllisnus srans
The hydroxide ion concentration of a solution is 1 x 107 ""M. Find the pH of the solution?
&THMI SreUTFSSINE LD sTHBlOVT FUTFSSDGL CurgiaiTsT BEphss azi?

17. @ihspsd) Qewadlsr sruuggluisd B Qunding?

What is the common step in aerobic and anaerobic pathway and where is it occur in a cell?

18. ew&@ewrmayfé@eorT s '‘Bpwssler GueiGrodsi” sTeingy T e

SwyssuuGEDS? : .
Why is the Sino-atrial node called the pacemaker of heart? . ; .
arit fsng LTHDE®S FULSUGSSID

ADTiGuorssrassfleT QLTS IS

; bolism in man.
Name the hormones which regulates water and mineral metal
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Match the following

Column A Column B
a) Atavism - i) caudal vertebrae and vermiform appendix
b) Vestigial organs - i) radiocarbon dating
¢) Wood park - iif) rudimentary tail and thick hair on the whole body
d) W.F. Libby - iv) Thiruvakkarai

21 2 L PUHL@ESS STTERTIOTET STTeRTlSdr srensu?
What are the contributing factors for Obesity?

22, souafsfmhs Spgiuiu’ L BRwureflurars SLs0aT o680 sr_.gmﬂ-msg
danGie apdeowu sspew 2 aflpry a@das Gsrsrdins. £id spalufsr Caugyy
1450 Ball! araflés sLedler g psfmens samsdHa?

A strong ultrasonic sound signal is sent from a ship towards the bottom of the sea, It is

received by the receiver after 2 5. Calculate the depth of sea ? The speed of sound in wager
1450 ms™?

ug# 111/ PART 111
@B: 1) g0seun 7 aflemdaenss almwallisab
i) (aflemn erad 324 S Lmunnns Lbleuedsan)
Note : Answer any seven questions: (Q. No.32 is compulsory) Txd4=28
2. 1) g Gurgaflsr g 5 N aflne Qewdul @, HuGurgensr 5 Gfal? amn
SerailhE YwHsGaisAns aofls yiaurgsis Haopulmers sarsd@s.
i) 36af o wgpster GQurgGemrery 10 Qe arrdgi  malGeardsr i
sausslufdng. Qeardlar owwusdsiimbs 20 Gl Gsrmevali iub
e-Gardlng erafld Tbugdeir o GUBUmESD wHMD 2 wrkmss semsdes
i) A force of 5N applied on a body produces and acceleration § cm s=. Calculate the mass
of the body.

if) An object of height 3cm is placed at 10em from a convex lens which produces an image
2t 20 cm from its optical centre . Caleulate the magnification and height of the imagt

produced.
24, Qurmsss.

SO

) | BeirGearr b

@) | Peremgss Sapun
&) lsrgen_ s

&) | Wlsirdlmeir
Match the following
a)  Electric Current i) volt
b) Potential difference i)
¢) Specific resistance ii)
d)  Electric Power iv)

ohm meter
watt

ampem

o
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i) 18 flomp SaDLw o sgfusana
Guirg @mﬂﬂmrr@',l.‘n Gmrrgﬁ %{bﬂ)mwé
j) Inthe nuclear reaction given below,
wX > ¥ 4 He !+ energy
What are the atomic number and mass number of ¥2,

Calculate the amount of energy re|
and results in a mass defect of | ke

et o s Y ey o smarrs
whpib Heom srairenents; srais,

TOMTNG SIS @)manraler
ST E ) (55
the nucleus X changes to nucleus Y.

=

ii eased when a radioactive substance undergoes fusion

i) Gurd semanflEmamus srays
=) 279 sygyflaflunp
i) QET@SSOULLE sh

=) 1.51 X 1023 NH,CI (PG o My 65T
Wib, T esrSA)
sflwrer afle_ulener Gpia Griis.
abp A L srbewiu@ssiuLrs srouf ursAlrsdls udsms dln LLen
uyHIsiTarg).

srremmd R ! sriui sydsdulenrd urds

Wib BeiTDTS gy rminigy

P
el

%) A, R @ram@is &A. R, A g slersgdlps

) A &, R saup

@) A saupi, R &

®) A, R @ran@n . R, A g allonés afsma
i) Calculate the number of moles in,

a) 27g of Aluminium.

b) 1.51 % 10* molecules of NHiCl
i) Und d the assertion ind ;

choice, . ) )
Assertion (A) ; An uncleaned copper vessel IS til‘ﬂelﬂ‘-' with greenish layer.
Reasan (R) : Copperis not atiacked by alkali

a) A and R are correct, R explains the A-

b} A is correct, R is wrong.

©) A is wrong, R is correct.

; el p]aj-m A ) :
d) A and R are correct, R doesn 1% puduGAng. A G paidsen

aleenyfips @elu bawpeiu B

given below and choose the correct

2 a1
Ui CoHyOz Gririoh A gL

I QaringenpssEADS"
) Qatumimer A, B ggb sm-D5
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i) A Gotwn aggerred oLar yfly B Coiusmss 60 Coudafee,

FLUETUTL DL 6T(LDHIS ey
iii) @ &sGaulallsnaruiisr ClLWDT 6TLSIS-
An organic compound ‘A’ is wic?ely used as a preservative and }ms the molecyar fo
C,H40;. This compound reacts with ethanol to form a sweet smelling compound B Ty,
i) TIdentify the compounds ‘A’ and ‘B’
ii) Write the balanced chemical equation for the reaction between compoung ‘A a

ethanol to form compound “B’.
iii) Name the chemical reaction.
28. 1) gefl eflmer whmbd FGost eleverullst
aflsparallenst QummsTasT wreneu?
ii) @éems Qrws wHmb Hellsms Qruma Canubssis.
i) What are the reactants and products for both light and dark reactions,
ii) Differentiate voluntary actions from involuntary actions.

afleweruBELIT(meTaer o

29. LbED STUTSSIETET @GS0 SELlmUl ULID MIDTHSI LTSRS E,L s
allend&s.
Draw and label the diagram of a typical angiospermic ovule and describe it. .

30. i) 9@ srw Oplamrg sraurwrearg (TT) sru GL®LG STaITSSIL 6T (tt) seviiy
Qriutiu®&ng. @& Corarmin F1 wpmid Fz seamewpamp sraurmssr |
STEUSUENESH HHTEHLOWEHL_WET STOTUMS aflens @s.

ii) geuprer s peoms SlGSS) TWHNLD.
(=) e—miyseflar uwesrur® wHmio umeitu@‘é—,,srrm@ RariurleoLd sapuaf
Frirasiv Lriallsi.
(=) upsmeussr urrC K saflellBHE Csmerywesnea.
i) A pure tall plant (TT) is crossed with pure dwarf plant (tt), what would be the Fi andFs
generations? Explain. i
ii) Correct the false statements. .
(a) The use and disuse theory of organs was postulated by Charles Darwin. -
(b) Birds have evolved from mammals.
31. alwiigsefe sewifler efMwsider allenerayssr wreneu?
What are the effects of hybrid vigour in animals.

32. i) ariusT oL émsR Ty Bl SWTESD Hapalsr Bsrar Qﬂ}imﬁm’sﬂ

LHDID HWESSHT STHESLISET WTrensy?
ii) grwEt Bersrrimgs sl ssiwr? 2 a8 sy Auruiu@sgl

i) What will be the impact of temperature and
water?

ii) Does pure water conduct electricity? Justify you answ,
er.

. cide?
Pressure while dissolving carbo? di ¥
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uggl IV / PART IV
GBI i) Hamawidg eflenméaseren el werlssayib.
i) epablau( aflewmaflgn TP LoF et e
iii) Gomauunan @ tisefleh 1y 1p UDTE.
i) Answer all the questions

ii) Each question carries seven marks.
iii) Draw the diagram wherever necessary.

ote : ;
L 3x7=21

BA. i) m PP 2-@LW CUrGer gty u s oy FemsCausgslsy paidns. F
greirp allews G‘J"JS‘»’LII'-@ t sreiTm s @ Gsusfluflsy v 676D ﬁmscmswr.m
WrHPWDLHS a eTarm serals YRss0mLLngl. GbsToysmens Qsran(y
aflens, Blsom whHDIb (WE&ES58HsTar CsrLieous smelsseyi.

i) Wsrords Copuriymar  seral@io
@samallullawer srsuallgn @ameuriumii?
i) A body of mass m is initially moving with a velocity u. When a force F acts on the body

it picks up velocity v in t second so that the acceleration a is produced. Using this data
derive the relation between the force, mass and acceleration.

small  wrgy?  Bersmpflsd

ii) Which instrument is used to measure the potential difference?. How will you connect it
ina circuit? *

(or) Sysbas
giie) Heveuils) o srer GslGprmed) Calsiu@d Garihn HFrCsusimamraTs]
o amspwwrar 9SGl UTSurs B ré&sCaan@Cluaflsy gal apb
steususTey Gausigle Cal_gporall @ aiwds QeoaGasrGi?
i) Qeaupplsdler uwamisgn 3000 A° syepaerer sewgm el

338B. i)

=B GleussmeneTds &HTEITE.
13 THESEm LTSI ST TEEISEDET TSI
of sound move away from a stationary observer so that

o ?
i) Calculate the frequency of visible light having Wave en

iii) X — rays should not be taken often. Give the reason. ;
Gsm ur@ssT TCEUD BHFDT TYSIS:

y wppis Gepiey TENTD! SG Gauglaflenaruilsiv

iii) X- sHiruLfismenojyse
i) At what speed should a source

) pafer ﬂ@[é@&ﬂﬁmﬁ“ﬂﬁ

i) afemerup @uILsaer SuY

. aflard -
. , . LT mET STATLIENS .
Coussengls LTSESETD £Modern atomic theory”-

s influence the rate ofa

i) Write any five salient features £ and concentration of reactant
ii) Explain how the nature of reactants
chemical reaction. Coml)
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34B. i) e e 15 SRTL STy

'“’Tr‘;‘”"i_bn‘n sir

et
How does locomotion take place in leech?
How are arteries and veins structurally different from one anothe

(OR) (sysvsug)
waflgiasiisr HIV uphpflw 60 DD HLag&sns, Bsuise
GlEirs b gsTmwenwi Clurgysg stsuaurn wrpudSns
g5 Qhnsflen paTamwamen(s L g wsllEs.

How can informational efforts change people’s HIV knowledge and behaviour?
List out the advantages of tidal energy.




10th — Science — PTA Question — 5: Answer Key

PTA Question -

5 Answer key

PART - |
.C) g
. d) all the above
. a) thermal Expansion
. a) ionic
. @) strong affinity to water
. b) remain same
. @) sanguivorous
. ¢) corpus callosum
. C) the centre
10. d) repetitive
11. c) ii and iii
12. c)Windows, LINUX

PART —II

13. Unit-3 : b) Both the assertion and the reason are true but
the reason is not the correct explanation of the assertion
14. Unit-4 : SI unit of consumption of electrical energy is
watt second. Its larger unit is kilowatt hour (kWh).
One kilowatt hour also known as one unit of electrical
energy. One kilowatt hour means that an electric
power of 1000 watt has been utilized for an hour.

O© 00 NOoO OB~ W N -

15. Unit-9 : TB Pg.no: 135 WTS Guide Pg.no: 120
16. Unit-10: TB Pg.no: 154  WTS Guide Pg.no: 134

17. Unit-12 : Glycolysis is the common step in aerobic
and anaerobic pathway. Glycolysis takes place in
cytoplasm of the cell.

18. Unit-14 : TB Pg.no: 215

19. Unit-16 : TB Pg.no: 240

20. Unit-19 : TB Pg.no: 283

21. Unit-21: TB Pg.no: 312 WTS Guide Pg.no: 255

22. Unit-5: TB Pg.no: 71 WTS Guide Pg.no: 73
PART —IlI

23.Unit-1:i)) F=5N, a=5cms? =0.05ms?

F=ma= m:§=i:100kg

0.05
m = 100 kg
Unit-2:ii)h=3cm;u=10cm;v=20cm

Magnification m =

WTS Guide Pg.no: 178
WTS Guide Pg.no: 201
WTS Guide Pg.no: 234

_20_,

10
Magnification m =
h' =2 x 3 =6cm
h'=6cm

24. Unit-4 : TB Pg.no: 56

s|==Is

WTS Guide Pg.no: 53

PTA — Model question Paper —5

PTA — wndlf] allemgsmer — 5

uggl — 1
GurmSswTe el emwsdh CHTHOHBHH 6T1DSHIS-
® ;
) Smel SImEIHHID
3i) QauliLedflsy
S) Sl SSH6iemnLo
o)) Bfler 158 oiFs BHILLID
) @6y wrdfwnrs Rmsbaemen
3l) FTHISGaurrerd
@) @sriuey &GeuTFID
8) emwwHFed
) Weni(BD LBewIBLD QUBLD QLT
. ®) i wipnd iii
®) elewrGLTery, 6dlardserd
ugdl — Il
. BIVG-3:Y) FmBL OBBID BT YD BTe0TBLd
.  yemed,  BAgewIL  FBmbG — Ffluirer
&A% B10606V.

S U i i

— O
=

—_
o =

—
w

14. opveg-4 wWeammmpne  pEiaisr S| oeve e’
afpm. Bser GlLfiy eve BlGevr eurt  ewi(kWh).
P05 BIBUT UL Ioewl]  STETLIHWET B Uf6oiL
eoremTImeD YHH. P65 BIECGUT 6UTL L6l  6TEHTLIGI
1000 UL leorFmyLD 2] 1060l GBI S55160
BIBJLILL (BT6NSHTEHLD.

WTS  Ls.676007 :
WTS  rs.676007 :

124
139

15. ove&-9: L55&% elel: 132
16. 9pv&-10: 1555 otmr: 151
17. OVG-12: @MY FUTFSHBHD  HIIAIOOT

FMFSHBHID  CLITSHIUTET  BBILFS]  BlemeridsmedsrdsrD.
B85 FL G mIsTmEFSHe Bl CLIBIBIIS.

18. ov@-14: 11555 etomr: 212 WIS 1r.ere00m : 184
19. @Ow@-16: 1555 cremr: 237 WIS w.eremr : 209
20. v@&-19: 155E etemr: 282 WIS wietemr - 248
21. opv@-21: 165E etemr: 313 WIS wiereor - 269

22. BIVG-3: L55H% otso: 71 WTS rs.er600r : 75

uggl — 11
23. @ve-1: i) F=5N, a=5cms? =0.05ms?
F=mas m==——=100 kg
a 0.05
m =100 kg
eve-2:11)) h=3cm;u=10cm;v=20cm

o BiOLmBsD M=2=22=2
© © Tu 10

. Lo n'
2 HUOLmBSHD M = "
h' =2 x3=6cm
h' =6cm

24. &4 Li5HHS oTevi: 57 WTS L6607 :53

wtsteam100@gmail.com

WWW.waytosuccess.org
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10th — Science — PTA Question — 5: Answer Key

25. Unit-6 : i) mass number =226 —4 =222
atomic number =88 -2 = 86
Unit-6 : ii) Mass defect in the reaction (m) = 1 kg
Velocity of light (c) =3 x 108 m s
By Einstein’s equation,
Energy released E = mc?
So, E =1x (3 x 10%)2=9 x 10 J (or) 0.9 x 107 J

26. Unit-7 : i) TB Pg.no: 104 WTS Guide Pg.no: 101
Unit-8 : ii) b) A is correct, R is Wrong.

27.Unit-11:0)ii)iii) TB Pg.no:171WTS Guide Pg.no: 145

28. Unit-12: 1) TB Pg.no: 185 WTS Guide Pg.no: 155
Unit-15 :ii) TB Pg.no: 227 WTS Guide Pg.no: 189

29. Unit-17 : TB Pg.no: 258  WTS Guide Pg.no: 217

30. Unit-18: i) TB Pg.no: 272 WTS Guide Pg.no: 225
Unit-19:ii)a),b) TB Pg.n0:283WTS Guide Pg.no: 233

31. Unit-20:i)TB Pg.no: 298 WTS Guide Pg.no: 247

32. Unit-9: i) Inside TB Pg.no: 128
Impact of Temperature : Solubility of CO, in water
decreases with the increase in temperature.

Impact of Pressure : Solubility of CO2 in water
increases with the increase in Pressure.

ii) Pure water does not conduct electricity. This is because
of the absence of ions in it . It can conduct electricity ,
when we add a pinch of salt to it.

PART -1V
33A. Unit-1: i) WTS Guide Pg.no:12(Newton’s 2™ law)

Unit-4: ii) Voltmeter is used to measure the potential
difference. It is connect in parallel in a circuit.

33B.Unit-5: i) Inside TB Pg.no:68 (Problem-5)
ii) Wavelength 1) =3000 A = 3000 x 10~1m
velocity of light ©) =3 x 108ms?!
frequency(v) :%
3x108  3x108
T 3000%10~10  3x10~7
frequency(v) = 10°Hz
Unit-6: iii)TB Pg.no: 89  WTS Guide Pg.no: 89

34A.Unit-7:1) TB Pg.no: 103  WTS Guide Pg.no: 101
Unit-10:ii) Inside TB Pg.no: 146

25. yev@-:6 1) wemm ereoir = 226 — 4 = 222
oy oteoir = 88 -2 = 86
DV@-6: 1) aflmenleaGurgy Bleomeuap (M) = 1 &)
oafiufsr BBty () =3 x 108 m st
meiTeroles Henm QyBmed Feur® E = mc?
eteBeu, E =1x (3 x 108)2 =9 x 10'® J (or) 0.9 x 10%" ]

26. pve-7: )55 etemr: 103 WTS w.eremr - 103
V&8 i)=y) A #f, R seum

27.oy6v@-11: )il)ii)ys55 eremi:168 WTS  Lieremr - 151

28.96v@-12: 1)1j55% eteor: 182 WIS wieremr : 162
Sv&-15: )ys55 etemr: 225 WTS 1r.e16007 : 196

29.9/v@-17: 1155% stemi: 256 WIS Lietemr : 227

30.9v@-18: )55 stemr: 271 WTS wi.etemr : 237
Dv&-19: )ys55 etemr: 282 WTS  r.e600m : 247

31.9060&-20: 11555 etomr: 297 WTS  wr.ete00r : 260

. v@-9: 1) 1sss 2 eiriteremr 125
Glsuln yplsmeviLTedr  HiTHBLD Bfledr  GleuL ILBlsmevemILI
o5 flbeptd Crsi CO2 aflar BenjHImer @eBBmsbI.
D WSBSST BN : [Bfsi] AUYISHDD BB fbG5LD
Gy COy 6Xieor BemgHesr S fibB)3b!.

igmu BF Wersmgn &L sgmdimen. BF0 uieissr
BVevrH6s5 BFHBSHS HTJewild. [BID @i FL lpend 2 _LlswL
CHid@OCLITSI DB TFTIHNS BL S5 (UPIQUILD.

ugsd — IV
33A. wyev@-11)WTS 11617 :12 (Blyr L eoflsor 20 i)
Dyv@-4: 1) ideieniaps s Coumimi ipemenr  Siee(BLD
awme  Couredl.  WLLJ.  1OeiHEmAe0  BBHemeor
LibGB@ementi i Ne0 BemevnrddCouemr(BLb.
33B.opv@-5: 1) yss5 2 eiiierenr - 69(@ey — 3)
i) ewmsvsms A) 3000 A = 3000 x 107108
pelilsir Hews@eustd ) =3 X 108 ms?
BTOB68T( V)Z%
3x108  3x108

~3000x10710  3x10~7
SFTGeuswi( v)= 10°Hz

Dv@-6: i) yss5 erewr: 88 WTS  Liereor : 91

34A. v&-7: ysss eemr: 103 WTS  wetewr - 103

v@-10: i) o555 2 _eir.eremr 144
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10th — Science — PTA Question — 5: Answer Key

34B.Unit-9:i) Solubility = —ossofthesolute ", 45

Mass of the solvent
=22 x100= 209
50
Unit-11:ii) Inside TB Pg.no: 168 (Figure — 11.3)

35A.Unit-13:i)) TB Pg.no:198  WTS GuidePg.no:165
Unit-14:ii) TB Pg.n0:215 WTS GuidePg.no: 178

35B.Unit-21:i) TB Pg.n0:313  WTS GuidePg.no:259
Unit-22:ii) Inside TB Pg.no: 322

HmyOLUTHee Henm

34B. @wves-91) sengsmer = X 100

SeILILITERN6T Blenms
=2 x100= 204
50
opvg-11: 1) 1555 2 eiietemr . 164 (Lu_b-11.3)

172
184

35A. Bev@-13: 1) 1555 etemr: 195 WTS  Li.eremr -
OVG-14i1) 1555 eremr: 212 WIS Lietemr -

35B. @eve@-21: 1) o655 eremi: 314 WIS rreremr - 273
DVG-22: ) 1555 2_eviletenr - 322
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